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1. Thag] ! forshl sie™ 1 watay wey 1. The best means of increasing sale of “
Lk an article is |
(A) et (A) Exhibition |
(B) Tl (B) Fairs
(C) forsm (C) Advertisement
(D) ¥4 @ =l TEf (D) None of these
2. 3wl g1 e firgid o sTauron R 5> The concept of management by
LEITCRCRIRIRIRIE objectives was propagated by :
(A) TTeE < GRI~ (A) Herald Koontz
(B) T =fa@ g (B) Ralph Davis
(C) TH. T, e g (C) H.L. Gantt
(D) WX TH. gL EI (D) Peter F. Drucker

3. U Foheieh Feud: FefeiRad wenm 3 An Auditor makes effort to detect

AIETEE} T I T ol TATE Fdl & mainly following types of fraud
(A) TThal %1 TR (A) Misappropriation of cash
(B) WWM’T (B) Misappropriation of goods
(C) <iaT geaehi A et (C) Frauds in books of accounts
(D) 3w g+t (D) All of the above
4. Teifere o A 1 € 51 3 AT 908 4. Which one of the following is not a
Seie 7 social evil of the money ?
(A) TR <k (A) Trade cycles
(B) =42 (B) Fraud
(C) &A1 AT (C) Murders
(D) ¥=I=X (D) Corruption
5. faefeifiaa o @ == @1 qufertor i v g 5. Which of the following is not a measure
EH A of dispersion ?
(A) fersear (A) Skewness
(B) A et (B) Standard deviation
(C) meF farare (C) Mean deviation
(D) ferem (D) Range
TG14/B 3
A
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6. RA T ‘S ORI N o Ay 2
4A) AR fisTel s <Rl

6. In India ‘Lender of Last Resort’ is

called
(B) & TR 1 (A) Reserve Bavnk of India
©) T (B) Government of India
. (C) NABARD
(D) Tl T2 s (D) State Bank of India

7. 9RA & ST HATANT =Y wfereenfig fpa

7. Planning Commission of India is
TR replaced by
(A) T s g (A) Finance Commission
(B) W™ IisHT uftyg gy (B) Indian Planning Board
AC) ifd s g (C) NITI Aayog
(D) i ¥t g

(D) NITI Panel

8. Classification of data may be

(A) iifereh (A) Geographical
(B) TvTTeHh (B) Qualitative

(C) ATITcH (C) Quantitative
(D) Iwierd @it (D) All of the above

9. Fimfafad § & 1 qeme am =0 & 9

. Which of the following is the base for

foe sym grar 2 7 preparing trial balance ?
(A) TSHTE=T (A) Journal
(B) @rdt &r&l (B) Ledger
(C) Uz =t (C) Cash Book
(D) HTF%%!{BT (D) Balance Sheet
A p TG-14/B
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(D) stz |

11, ol e 3% g o T
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Selection of best alternatives is an
important step in :

(A) Planning

(B) Decision making

(C) Forecasting

(D) Implementation

Hawthorne experiments was conducted
by :
(A) George Elton Mayo

(B) George Elizabeth Mayo
(C) George Ezen Mayo

(D) George Mayo

Under vouching, checking is done of :

A) Books of original entry
) Final books of accounts

C) Balance sheet
)

D) All of the above

The full form of CIF is :

~(A) Cost, Insurance and Freight

(
(B) Cost, Insurance and Flight

(C) Company, Insurance and Freight
(D)

D) Company, Investment and Freight

Co-ordination involves :

(A) Forecasting

(B) Unity of purpose
(C) Selection of staff
(

D) All of these
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(OO A A
15.  STedeh At ot TSR o e Frsfrfiag 15.

i e 3 S\Z:)Z ;c;r;wpany has to file with registrar,
(A) uTE STty (A) Arti A
icles of Association
(B) Ufgmmor
(B) Prospectus
(C) uTse Hmr fam (C) Memorandum of A
. randum of Association
D T3 '
(D) 39FF H § IS T (D) None of the above
16. Siad 43 W € 16.  Outstanding Expenses Account is -
(A) T TS =JF QT (A) Income and Expenditure Account
(B) 9THHTA Qrd1 (B) Nominal Account
(C) HAfHTa @rar (C) Personal Account
O IELSIEERE G (D) Real Account

17. 9RdE qn'fﬁl & Tray o fifeng qHH 17.  Which of the following statement is true

WHRFAFAT ? in relation to Indian Agriculture ?
(A) F T 2 I IcqTShdl 9 2 (A) Labour productivity is low in
| ST 3T agriculture
®) Sl E!@T% (B) Land holding size is big
©) ?fﬁ S (C) Government procures the whole
EZGIRS agricultural produce
(D) 39 Tft (D) All of the above
18. fagTe o 3ewal & affafora 7 2 18. Advertising objectives do not include
(A) &I I g el (A) Informing consumers
(B) gfeeahtvr T Ufiard hidT- (B) Changing attitudes
AC) TANSH & (C) Making entertainment
(D) SIMTE&dT daHI- (D) Developing awareness
19 W@W%. 19. Journal is a book of :
. A) Teeft gfyfe ﬁ (A) First entry
(B) Bfe € (B) Original entry
~ %\T\ SIS ) (C) Datewise entry
i) T £ 4D) All of the above
(D) 3Iugart @+l 2 ot
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00. 3T, ST, ST 1T T AT S fferTvt
% FEd &
(A) “rifereh affeRtoT
(B) WTETCHeh aTieRvl
(C) Fad afferton
(D) T[UTTcHeh STTehTeT

21. T Ui HH o HIHER o1& Feqd
Thd © :

22. T IR Yoy T e wouf & wed
% gt 9fig 1 Shfee fpan s 2

(A) S -g1H @Td |

(B) Wty @Id o

(C) 9T TTEER % §Sft wrdi ¥
(D) JFHHA W H

23. SHEEA ¥cd © d1e 2] ® safaagl

[T Ui -

20.

21

2%

23.

24,
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Classification on the basis of income, 1
production, weight etc. is known as

(A) Geographical classification

B) Quantitative classification

(B)
(C) Continuous classification
(D) Qualitative classification

The partners of a registered firm can

file a suit :

(A) Against the firm

(B) Against other partners
(C) Against third parties
(D) All of the above

On the admission of a new partner,
the increase in the value of an asset
IS credited to

(A) Profit and Loss Account

(B) Asset Account

(C) Old Partners’ Capital Account
D) Revaluation Account

Density of population means number
of persons per :

(A) Square foot

(B) Square metre

(C) Square inch

(D) Square kilometre

Under which of the cost differences

internationa| trade
o would not take

(A) Equal

(B) Comparative
(C) Absolute
(D) All of thege

Page -5
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(A) FEdIRToT s
(

e ST 8

07. TorE ST WL o STl fomaa e
Sfiem 3R gcg =1 JTHAT 5 STl & 7

(A) fgarferam

25,

26.
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In financial accounting, ledger posting
is a process of :

(A) Summarising

(B) Classifying

(C) Recording

(D) Interpreting

Transferring entries from journal to
ledger account is commonly known

as
A) Recording

Posting

)
B) Transferring
)
D)

(
(
(C
(D) Entering

Advertising can become life and death

matter under which market structure ?
(A) Duopoly

(B) Perfect market

(C) Oligopoly

(D) Monopoly

The objective of vouching is :

(A) Getting knowledge of business
transactions

(B) Getting knowledge of non-business
transactions

(C) (A) and (B) both
(D) None of the above

TG-14/B
WA
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0g. Wi ¥ from w1 AR ?

30.

31.

32.

(A) sz geft Emia ST
(B) firea fertiervme

(C) Icural & farfera s
(D) TAHTTH ST 1 oA

T8 wisean fores ar=nia foret wmea
SHuaTRE & gea s o6t fovreH 3fa
foraergul & & ferar TTaT &, e ©
(A) TR THEToT
(B) ITT=afieh Teherm™
(C) SAT=Iieh FeaTeh
(D) AT Ta-eA

S grgier! H o faees foman s g,
T BY ol gEdehl § I fetiad @t @iett
ST ®

(A) g @

(B) 19 TH B THAISH @ral

(C) et T

(D) s 37 =1 faferisr @man

et sfiem w1 v fuifa w@ & ol
IERIEIGIN

(A) at &

(B) wfd =t st amgfa
(C) &t hr g
(D) Fer sfen

TG-14/B
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Exception to the law of demand is :

(A) Diminishing marginal utility

(B) Giffen paradox

(C) Different uses of products
)

(D) Price of substitute goods

The process that entails a proper and
rational distribution of work between the

members of the staff of the organisation
is called :

(A) Internal Audit

(B) Internal Check

(C) Internal Evaluation

(

D) Internal Management

When the partnership firm is dissolved,
the following account is opened in the
books of firm

(A) Revaluation account

(B) Profit and loss adjustment accoynt
(C) Realisation account )
(

D) Profit and loss appropriation
account

Tally sheets are used to determine
(A) Class limits

(B) Frequency of each class

(C) Number of classes

(D) Continuous series

Page -7
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33. =T s wfera Tt S 2
(A) T siarst w
(B) SAfFTTa Tegeh wy
(C) & TEHT HEINoT 7Y
(D) & Wy w

34. @A Tishat 8 wfte T g
(A) SATTIET T
(B) SITSRTOT AT
AC) TTATehd T
(D) TTITSHTOT ST

35. T3 % Yed AN TH Yo Tl ok A
EELRICIEE
(A) TeI&
AB) FfE

(C) HAIcae

(D) AT

36, Frrifena 3 & i AT S| ohl hise
fmtor sif =1 Eifira T @ 7

(A) TtehTsT ifd

(B) sifehT I

4C) Tl

(D) =arafren fHTEmEre

1
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33. Personal selling is not targeted
towards

(A) Mass audiences
(B) Personal contact

(C) Two way communication
(D) Quick feedback

34. Accounting process does not include -

(A) Recording
(B) Classifying
(C) Simplifying
(

)
D) Summarising

35. The relationship between values of

money and general price level is :
(A) Direct

(B) Inverse

(C) Indirect

(D) Proportional

36. Which of the following limits the power of

credit creation by Commercial Banks ?
(A) Fiscal Policy

(B) Banking Laws

(C) REPO rates

(D) Business Pessimism

TG-14/B
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a5 e e o A o AR
s

(B) TIEAT Rl

(C) TfeTd FTT

(D) Sfichet =TT

@i &) 98 Faurn e N
ST Y

FeAd! ¢ :
(A) ATTd
(B) et
(C) T
(D) Wk

37.

39. TmifeRd & A 1 @1 go1 1 Rl AE R 7
A) T =1 wregy_
(B) Hed T TR«
(C) hlwi 1 feemiamor,
(D) ATY ! SIS v

40, w%mﬁmﬁuﬁ%a%;
A) Hifitge Ty
(B) A T Y =g
(C) UTEshi A aTa=hiqg
(D) 37 wef

41, TF S afafe, ﬁma‘rma‘rﬁaﬁm
A) reh yfyfe
(B)agm%tﬁ»-tv
C) sifafed ufyfe
(D) Ty wfefes

TG-14/B
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37. Total of the two sides of account ang
to find out the difference is called :
(A) Totalling
(B) Trialing
(C) Balancing
(D) Analysing
38. The accounting concept that is used to
prepare the Profit and Loss Account is
known as :
(A) Cost
(B) Realisation
AC) Matching
(D) Disclosure

39.  Which of the following is not a function
of money ?
(A)-Medium- of exchange
(B) Storage of value
(C) Stabilisation of prices
(D) Unit of measurement

40. Personal selling includes :

(A) Oral communication

((B) Face to face interaction

(C) Conversation with customers
(D) All of the above

41. A journal entry, in which two or more

accounts are deblted/credlted
known as

(A) Double entry
(B) Multi entry

(C) Additional entry
(D) Compound entry

Page - 9
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42. “TEYH Tk UHT m%mmw%

43.

44,

HIEH § TR Rt <11 e 3 | g
TieaTST & R E

(A) TeH f@y g
(B) SItst 28 g1

(C) X Th. g gRI
(D) &0 e g

yfceast =l wfesfea s 2 v .
(A) I SR =R

(B) TR =TI SyemR
(C) Sidaf~¥rq =R sygar

(D) A |t

T T fUsh W1 B sra R T S
?%Zm?ﬂ-‘ﬂ?ﬂ%?} -

11

42.

43.

44.

45.

46.
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Management is an organ, which can

be defined only through functions” —
This definition ig given by ;

(A) Adam Smith

(B) George Terry
(C) Peter F. Drucker
(D) Henry Fayol

Restricting competition is a -
(A) Unfair trade practice
(B) Monopolistic trade practice
(C)

(D)

Restrictive trade practice
All of these

The salary paid to a clerk Ramesh
should be credited to :

(A) Ramesh’s Account

(B) Salary Account

LC)
(D)

Cash Account

Profit and Loss Account

Systems approach is not propagated
by :

(A) W.G. Scott

(B) Robert

(C) Peter Drucker

(D)

D) J.D. Thompson

The primary function of the book-keeping

is to

(A) Designing the system of recording
the transactions Y

(B) Assigning the responsibility to
accountant

(C) Recording of financial data

(D) Classifying the recorded data

TG-14/B
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frforfed § @ ®F @1 ofad forgtE™
st g el et foha ST el @ 7
(A) THTIR H1ET
(B)
(C)
(D)7‘='§,Flaﬁ
& YGHUT 39 AT & el e a0 ¢
En?ﬁ%:

A) 20 - 30 SHiTA |
( ) 30 — 40-SHTA &
(C) 40 -50 H=aw &
(D) 37 @ =Ig T

gﬁ@@qmwﬁmgﬂmm 7 e
;

(A) s e

(B) @R e

(C) Tuft S

D) &= amdior &

T HER Y &
wm TR e e, e oy
A) B @rd i
)m%‘@ﬁﬁ
(C) forra @m
(D) %% @rq i

TG-14/B
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47.

48.

49.

50.
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Section 2(36) of Companies Act is
related to

(A) Memorandum

(B) Prosbectus

(C) Articles

(D) Incorporation

Which of the following averages can
not be calculated with the help of
graphic presentation ?

(A) Arithmetic mean

(B) Quartiles

(C) Median

(D) Mode

Sound pollution arises when sound wave
exceeds :

(A) 20 — 30 decibels
(B) 30 — 40 decibels
(C) 40 - 50 decibels
(D) None of these

Which one of the following is not a part
of organised money market ?

(A) Central Bank

(B) Commercial Banks
(C) Indigenous bankers
(D) Regional Rural Banks

Cash discount allowed to a debtor
should be credited to
(A) Discount Account
AB) Customer’s Account
) Sales Account
D) Purchases Account

(C
(

Page - 11
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52. In the case of hire purchase, assets
St e account is debited with
(A) fortr s e ¥ (A) Hire purchase price
(B) RS A | " (B) Cash price
©) foan & =T T (C) Cost price of the seller
(D) ST | | IS T (D) None of the above
3. T Heft 71 @ % mey %Fg WA Y 53. The elasticity of demand at the mid point
& Bt 2 on a straight demand line is
RIS (A) Zero
(B) TS o STeR (B) Equal to one
(C) TS | Afeen (C) More than one
(D) 3oTS & A (D) Less than one
54, 3T o THYY 1 IS S Biel %, Ell 54. The effect of surrender of shares is the
21 2 379 &+ same as of shares’ :
(A) TTHA =1 (A) Issue
4B) U &1 (B) Forfeiture
(C) G &1 (C) Re-issue
(D) 378 9 FIE et (D) None of these
%, HHRO IR W G F WA gIeeshio % 55. According to traditional approach of
AR 3@ Iz sTfre % money in normal sense includes
(A) T3 (A) Currency
(B) LEY W i SRR (B) Currency and demand deposits
(C) Te1 wd e STl (C) Currency and bank deposits
(D) T qrey wiEa Rt (D) All liquid assets

TG-14/B
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%.ﬁwmﬁmmhmﬁ@ﬁ%@ﬁ
e T | 38 T GO TSR] H e
S
(A) R - ST ST
(B) ISR 3TguTd |
(C) TSt % 3rgurd |
(D) T % 3FATd H

57. SR F1 & Fred 8 A s
w faftemi 1 Seorg foran Siran @

(A) TS & Fremraet 4
(B) Frie femmee o
(C) T it @ |

(D) Seeeh fewmfcsr §

58. Tmfafed & @ #19 &1 3eameq Bor &
T U ARl © 7

(A) JETE HeheudT

(B) Srenfirht &Y ayamen

(C) mTat =i 7y

)
(D) AT i aqaEen

59. el uTeeh gt s ok i e ) 2
e sfrer 2

(A) T aoeht @ 3
(B) e o @ 1
(C) % @m

(D) i @

TG-14/B
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oF.

58.

99,
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A new partner brings in cash as his
share of goodwill; this amount will be
distributed among old partners in :

(A) Old profit sharing ratio
(B) Equal ratio
(©)
(D)

Ratio of capitals

D) Sacrifice ratio

General rules and regulations for
the performance of office work are
specified in

(A) Organisations Manual
(B)
(C)
(D)

Office Manual
Organisation Chart

Management Guidelines

Which of the following is not an attribute

of production function ?
(A) Flow concept

(B) State of technology
(C) Quantity of inputs
(D) State of inputs

The return of goods by a customer s

debited to : ;/% %
Sales Return Account -

(A)
(B) Customer’s Account
(C)
(D) Stock Account

Purchases Account

Page - 13
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: %Wwﬁaﬁwﬁﬁﬁﬁ% 60.

In case of ‘installment payment

A A fer e & system’, total interest receivable by
(A) =S 394 @Td § the seller is credited to
(B) =TS @rd | (g) :n:eres:c[ iuspense Account
) nteres
OREERRCIEE ((CZ Sales AccCoC:)nutnt
(D) ST H & I T (B)-Noneioifiieal s ¢
61. <X AT T AR Toham ST 2 61. Charter party is used :
(A) Tt s & (A) in export trade
(B) 3ATATA SATIR 4 (B) in import trade
(C) AR AR H (C) in internal trade
(D) T8 QI3 =1 (D) none of these

62. Siohi oh Tl WIeh h e H fHIfehd o < &l 62.  Which statement is false with reference

to dead stocks of a bank ?

FOF FAA T 7
- ' (A) They yield no profit to bank
(A) méﬁﬁw%?m:{‘gﬁ—gﬁm% (B) These include furniture and
(B) 3TH FrT=R et W I & buildings
: (C) These are used to increase

(C) == wicrea1 wIa B ST foral ST & o

(D) ¥ R—fwure geafl & (D) These are non-performing assets
63. A o faesft = i FuEsTi | | 63. One of the problems of India’s Foreign

Th @ Trade is

(A) 3TTETd 1 T9AT H YA (A) Payment of imports in rupees

(B) Tt h) e 1 g4 ATl gha (B) Increasing quantity of exports

(C) = Y wfdrakel T4 (C) Unfavorable terms of trade

(D) Iwiera # & whlg (D) None of the above
A 17 TG-14/B
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64.

65.

66.

67.

68. mmmmm%m

e ST #1991 % HHE Fl

Feafa gt oft -

DESCER

(B) eI & ¥

(c) A) 31T (B) aH1 ©
Sﬂﬁé‘aﬁﬁa‘a‘\

forrifted B 9 |1 B e 1 3
Tie?

(A) Tt

(B) S TETThR

(C) & TN TR Hel

(D) SF T &

F=fafaa § 4 9 1 v i #i1
Ty A9 2 7

A) Ty o
(B) vuTY foareH
(C) ferereer 1orieh
(D) &

gﬁmaﬁaﬁrmﬁm FTHE T Gkl

(A)
(B)
(C) ez

(D) 3% w+f

AT A1

ATEN T 1 foz fipy vy 2
(A) Torsh @ &

(B) §sf @

(C) T8t @ra

(D) (B) I (C) ¥ 3
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O

1991 crisis in Indian economy was
originated from :

(A) Domestic sector
(B) External sector
(C) Both (A) and (B)
(D) None of these

Which one of the following is not a part

of Hawthorne experiments ?

(A) lllumination

(B) Mass interviewing

(C) Bank wiring observation room
)

(D) Mass assembly room

Which one of the following is a relative
measure of dispersion ?

(A) Mean deviation

(B) Standard deviation
(C) Coefficient of variation
(D) Variance

With the help of Ogive curve, we can
estimate :

(A) Arithmetic mean
(B) Mode

(C) Median

(D) All of the above

Cash withdrawn by the proprietor fq,
his personal use should be debiteg to

(A) Sales account
(B) Capital account
(C) Drawings account
(D) Both (B) and (C)
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. Fere = &Y Frehean 38 WX e
69 EG 2 9. Nearness of near money depends on
(A) Ay

ol (A) Legality
HaTTehdl

(B) Profitability
Sl (C) Validity
(D) T (D) Liquidity

70. A @I STefl Uehg Teaeh H e gt ere

AR A2 Pl eiciviiegs oo
(A) Sfore ugr (A) Debit side

(B) shise ued | AB) Credit side

(C) 13 ferfse It Ay Sy (C) No Entry is made

(D) Tk A1 o &Y H forelt s7reft 2 (D) Written as a note

71. FTAREd g e s e o T e 7

71. Which one of the following statements

(A) FIHER] @ & A9Te H wrer] is not true ?
% HER ATH Td BT o1 forewor o (A) In the absence of partnership
T A T el
12 T H@?R' QI A ST %RTI (B) Minor partner can get his share of
T S Fehell 2 profit.
(C) ERR & ey 9y 9dd g (C) The relation between partners are
IR | created through deed.
(Do) PR GRS S Tl D) Soenijgsutlrse;t;;n of partnership is
72. frefafed 3 @ o quf TSR T 72. One of the following is a feature of
fereroan 2 | perfect market structure
(A) ufafsd sremd (A) Entry barriers
(B) Harfstea (B) Interdependence
(C) forshi wtmrai <t srgufeafa (C) Absence of selling .costs
(D) MR- e et (D) Non-price competition
A 3 TG-14/B
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25 e 2 3 wieraed fepa
(r) ‘T fagr
(B) ‘ars’ forsT<
(€) ‘v’ fogra o ‘T’ R
eIl
D) 3ugjerd # & IE el

74, frefead § @ %M o1 F2F TR TR © 7

(A) JETe sk 1 ferrsoTTereh Jehfel
HE

(B) STITIER TeA 3 ARG i o
TETEH Shell 9 fog= aH1 € |

C) ¥7ad ffeea qeasi & @qg #
iR for ma |

D) JEuTe oiem J&ehi 8 Sfierad &
EARCIER

75. AR & fqu min 2
(A) JusrerT T
(B) Tt @y

(C) 3cdTesh i mi

(D) (A) ¥R (B) At

aqaamﬁ%gaﬁrmésqmmm
@ﬁ?ﬂﬁuw&a%mmg

(A) M= 999 @ra

(B) =m1-=1f3 @y

(C) wfasgfer sty gy

(D) Ysft e ey
TG-14/B
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73.

74,

Ng.

76:
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Mc Gregor has propounded

(A) Theory X

(B) Theory Y

(C) Theory ‘X’ and theory ‘Y’ both

(D) None of the above

Which one of the following statements

is not true ?

(A) Thejob of book-keepingis analytical

d in nature.

(B) Book-keeping is an art as well as
a science of recording business
transactions.

(C) Transactions are recorded in a
certain set of books.

(D) Book-keeping is the method of
recording in account books.

Demand for furniture is a

«{A) Consumer’s demand

*(B)
(C)
(D) Both (A) and (B)

Durable demand

Producer’s demand

After re-issue of forfeited shares
balance of share forfeiture account jq
transferred to :

(A) General Reserve Account
(B) Profit and Loss Account
(C) Security Premium Account
(/D) Capital Reserve Account
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1 ﬁmﬁi@aﬁﬁﬁ?mmgﬁqﬁ%? re
(A) GNECACARREC D) Waﬁw?ﬁ - Which one of the following statement

P N i iS not true ?
(A) The object of trial balance is to
(B) :maam(l e A @ Ao F * foru test the accuracy of the books.
e E“{E“;/l (B) Trial balance provides basis for
(C) S PAIESED WW%W—% Preparation of final accounts.
CARE L) T2} ) o (C) Errors of principles do not affect the
o y agreement of the trial balance.
(D) # e STefa TrmehTt) srorfigeit
T ff Y ST 3 | (D) Compensatory errors are also

known as equalising errors.

sf TR A, % g ;
78. gt RS EERSCR] 78.  Mr. X' is marketing manager of TCS.

He is

worm - -
(A) T o Te-ereh (A) First level manager

(B) eI TR o Tel-eeh (B) Middle level manager
(C) =fd W% EERED (C) Top level manager
(D) B“Q{f&ﬁ H ¥ hr3 T (D) None of the above
79, HHE WIFH AT g %A i T wIEd 79.M/s Stationery Mart will debit the
%1 fere Torar s purchase of stationery to :
(A) GHTT =2 GG R (A) General Expenses A/c
(B) F @Td H (B) Purchases Alc
(C) ®vE @Td H (C) Stationery Alc
(D) Swferd I 9 IS Tal (D) None of the above
0. Jeure o g 38 it 80. The main objective of Book-keeping is
FT to:
R T R (OA)\ find out profit or loss
(B) =T w4 T T (B). keep correctand complete record
fifera e of business transactions
(C) =fwai wal TRt 1wl feer (C) show the correct position of assets
TITHT ~ and liabilities
(D) Wa—,‘—aﬁﬁw o1 g1&Ton (Q) examine the accuracy of business
FE transactions
A 21 TG-14/B
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W:m%ﬁwﬁﬁmwm
; ﬁmﬁmﬁﬁ@ém%ﬁmﬁ:
) R & R
’::)m*'“ﬁ?%
() smw A e §E &
(D) % ) 7w g8 &

go. P & § HH-T1 THIUHRE
sfereqert 1 Tk eI
(A) Wi fagme=
/B) TR-7ea wfrequt
.(C) 3Tt wd
(D) e wfereqert
83. THwS faveror & va off T AT R
(A) TTE HET &1 fargeiyor
(B) @ o1y forveryor
(C) Fhexiar forverww
(D) 394 & =1 i

f=fafaa 4 & S TS H

TTfa et 2 7 g

(A) P & 3 ®. 1,200 F1 9T gy
I wfafe 27 fom 3 goas 3
%.2,100 & il TRAY |

(B) u feafern er ) grafy @ g
¥. 300 30 @I ¥ Hfee g fouy
TR ST 36 77 2 3 ) 5 arafifiag
forn s g e |

(C) & 3R A1 3 . 800 dqam

(D) FoHft w3l . 700 3
Ry SUT =i mfy

ﬁﬂm%smm

81

84.

GET IT ON
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Revenue from sale of products
ordinarily is reported as part of earning
in the period in which :

(A) the sale is made

(B) the cash is collected
(C) the order is received
(D) the cheque is received

81.

82. Which one of the following is a feature

of monopolistic competition ?
(A) Heavy advertisement
(B) Non-price competition
(C)

(D)

Interdependent firms
Price competition

83. Break even analysis is also known as :
AA) Cost volume profit analysis

(B) Cost benefit analysis
(C)

(D)

Incremental analysis
None of these

84.  Which one of the following errors affect
the trial balance ?

(A) Abill receivable, received from P
for Rs. 1,200 was found entered
in the Bills Payable Day Book ag
Rs. 2,100.

A sum of Rs. 300 received from
the estate of an insolvent debtg,
was found credited to his account
which was already written off 5¢
bad.

Rs. 800 owed by a debtor wgaq
omitted to be included in thq
schedule of debtors.

Old machinery sold on credit fq,
Rs. 700, was passed through th

(B)

sales book.

e Sam

22 M A
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[
" %@%ﬁ 1 S 9 3 Hfee uy
o TR IPAaFar R 85. If credit side of
(A) T Srferferen ; rea a bank account is
ks greater than debit side, it indi
(B) aﬁﬁﬁm (A) Bank overdraft~ | g}
(C) S H 3y (B) Cash at bank
(D) =] T (C) Bank balance
(D) Current as
g, AT ST 5T o6 ey 2
fsh 1 2R R < ;?#ia{ hl ek 86. Sale of furniture by a furniture d
(A) e @ 1o ; for cash is debited to : s Cej?_r
(B) forshl @ra # 4A) Cash account - W%&
(C) Ft=R @ B (B) Sales account 3
(D) 39 | & 1S e (C) Furniture account
g T s T 3 R (D) None of the above
(A) H&1 % A1 @ wiie W @l & K V:'“e of money refers to
AB) T2 1 M 9 wIfaa o EB; gglr?ee:rlcgisrgg:gi;n e
(©) Tz % fore i & o T Aoy
D I arafifea ) Demand for mon
(D) ¥ I@a (D) Value intrinsic in ??\loney
88, AfeTaEUT T STk fohdl :
e FET A1 7 88. Who is called Father of Economics ?
®) Elﬁg TR (A) Max Muller
LG) @qﬁ” ';i (B) Karl Marx
(C) Adam Smith
(D) SqTTHA (D) Samuelson ; 9
po — it
8. HF;W 3T © 89. Shortworking means i
(A) aT??R YPeeh I AdH [ETEEC AA) Excess of minimum rent over
PES royalty
(B) ;a@fﬂﬂ R g AR sk <l (B) Excess of royalty over minimum
PED] rent
(C) 3ferehr Feoh I AT (C) Surplus of royalty
(D) :Tﬁﬁ\?m fort @ WX arEdfereh ek (D) Excessofactual rentover minimum
e rent
0. wrdig srofegeEan | ?f@ o1 AMEH 90. The contribution of agriculture to Indian
(A) T2 T 3 economy is
: (A) Increasing
(B) =2 @I (B) Decreasing
(C) fer? (C) Constant
(D) 38 ¥ 1S A=l (D) None of these
A i TG-14/B
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91.

92.

93.

94.

95.

ﬁﬂaﬁ@ﬂﬁ@@%

i TerE! & S U Tord Tehe forght
g % o SR T @ 7

A) e Torg forshl Ha

B) ! ! SITT 7T HTTGeh fefertor
(C) Tersrashat g ez T ferarwon

(D) s T

foreh sgamm Y T e w1 TG &
L EEIRERUNESE
(A) Tt =T
B) EUfid e =5
(C) TS =44
D) YsiiTd ==
3Tl T forn 21t R 1 a1 e =5
EZIECIEIE
(A) Ten fEr gm
(B) 3Tehe HTelidd g
(C) ST, 1 g
(D) =ifee gm

o8 ST e 7 i, e 3 7
(A) Taarferen

(B) 9ot wferifiray

(C) uenTiRrenR

(D) sreurfirmm
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3.

94.

95.

GET IT ON
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NN

Sales book is a record of :

(A) Only cash sales of goods
(B) Only sale of assets

4C) Only credit sales of goods
(D) All sales

Which of the following documents is not

relevant for vouching cash sales ?

(A) Daily cash sales summary

(B) Monthly statements sent to
customers

(C) Salesmen’s statement

(D) Bank statement

The amount spent to increase the

earning capacity of a business is :

(A) Capital loss

AB) Deferred revenue expenditure

(C) Revenue expense
)

4D) Capital expenditure

“‘Money is the pivot around which
the economic science clusters.” This
statement was stated by :

KA) Adam Smith

AB) Alfred Marshall
C) J.M. Keynes
)

(
(D) Koutilya

In which market structure, the demgng
is perfectly elastic ?

(A) Duopoly

(B) Perfect competition

(C) Monopoly

(D) Oligopoly

Page - 21


SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

|
9%. b ST R =IeH T ) 96. “Bad money drives good money out

1 5@ T < fures 9 iretlar
g7 ™ D of circulation.” The propounder of this
(A) SL.TH. hI statement was :
B) offTr 9T (A) J.M. Keynes
(B) Thomas Gresham
C @%QFR’H
© (C) Samuelson
(D) ShI3= (D) Crowther

g7. o] hl Tk AT 3ohTS o IuN Iy 97. Utility derived from consumption of an

ST haeTet @ - additional unit of a good is called
(A) T ST (A) Total utility
(B) HaT ST (B) Marginal utility
(C) Afcriar ST (C) Additional utility
(D) SFea= ITANICT (D) Derived utility
98. THIUM ! Halel B 98. Vouching is concerned with :
(A) ST o1 STfreRTRERdT T SHToTeReT (A) Verification of authority and
re| authenticity of transaction
(B) Tidi Tne i Jyar ¥ (B) Validity of documentary evidences
(C) EFHTJF} 7 srfiifad yfafeeal @ (C) Accuracy of recorded entries and
@A i gl @ postings in books
(D) gq-grﬁ gt g (D) All of above
9. ferfrg g @ eH qrerfirer 3Tehe HE 99. Which of the following is not a method
FQ A AR 2 ? of collecting primary data ?
(A) WeTel TR (A) Direct interview
(B) TRYes IEATRT (B) Indirect interview
(C) W T (C) National publica\tiot:sd
(D) e uafi (D) Questionnaire metno
A 25 TG-14/B
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101, o o1 e e, fordt Sl < HHTH
mmmm% FHEAT T :

A) ST gSft
(B) SRIEIR]
(C) Frfa T
(D) sferpet g

102. dfeA wee “arfem’ et ?

103. ﬁmmqu—ﬁ%?
() Tt sRfea =1 stfircra e
(C) ‘a’ﬁlﬁmwm
(D) ‘ﬁ@%ﬁ?ﬂwm

. ?ﬁﬁmm%wﬁﬁgﬁﬁ
(B) srwrenfeai zmy
(C) &R gy
(D) &RR gy

TG-14/B
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100. Which one of the following is not ;
clerical error ?

(A) Error of omission
B) Error of commission
(C) Error of principle
(D)

D) Compensating error

101. Part of capital which can be called-uy
at the time of winding of company i

called :

AA) Reserve capital

(B) Uncalled capital

(C) Issued capital
)

(D) Authorised capital

102. Latin word “audire” means
(A) To adjust
(B) To dare
(C) To hear
(D) To here

lgg. Which is not the objective of Auditing ?
AA) Recording of original entrieg

(B) Verification of financial statementg

(C) Detection of errors

(D)

D) Detection of frauds

104. In a company, Internal Auditor is
appointed by :
(A) Board of Directors
_AB) Shareholders
(C) Government
(D) Creditors
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105. HARIFR Yook @rat &

(A) STFR oo STty
N i Qw5

(B) TIFM I &y §
STl 2 i

(C) I Fohtra stiqunfes w9 &
L o= srar

(D) 3Sugad gt

106, 9 TETEH oAl Wit St ¥, qer e

e 2T T3 ST ATt s T IS
FE 2 :

(A) Sehegor JorTe!

(B) 3TehevT Gelequr

107.

27

GET IT ON
Google Play

105. Under Royalty Accounts, if there is strike

for a certain period then :
(A) Royalty is reduced proportionately

(B) Shortworkings is reduced

proportionately

(C) Minimum rent is reduced

proportionately

(D) All of the above

106. When subsidiary books are maintained,
the entry for special discounts to
customers is done in :

(A) Journal

(B) Sales book
C) Cash book
(D) None of these

107. A scheme of work to be done by the
auditor is called :

(A) Audit system
(B) Audit survey
4C) Audit programme

(D) Audit guidelines

The middle value of an ordered array
of numbers is the

(A) Mode

(B) Mean

4C) Median

(D) Quartile

108.

TG-14/B
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110.

111,

112.

113.

(B) TH. 1 &I
(C) &, sfam g

(D) 3AFeHd g

ffcifiaa 8 & - 3fe aerae % fiem
1 yTferd T e 7

(A) et ool il e feat

(B) Wé@?@

(D) e @ ool e o v g
ik fotd 2 2

(B) @l #t firmaray w

(C) @rdt it Jura

(D) 3w mot

m%? aﬁ%%qaaqmmmq
(A) mmm

(B) TR Hreayy

(C) ez /e

(D) WUT!FIW
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109.

110.

i P

52

113.
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[

The surplus Or defi.
income and expenditure acc

transferred to :

cit revealed by

ount is

(A) Receipts and payments account

(B) Profit and loss account
(C) Capital account
(D) Capital fund

‘Management is the function of eerCl.Jt.ive
leadership everywhere’ — This definition

is given by :
(A) P. Kotler

AB) H. Koontz

(C) R.C. Davis
(D) O’Donnel

Which one of the following error do not
affect the agreement of trial balance ?

(A) Casting and posting errors

(B) Amount omitted from trial balance
£€) Recording of asset as expense
(D) Omission of an entry into ledger

Auditor gives report on :

{A) Truthfulness of accounts
(B) Fairness of accounts
(C) Validity of accounts

(D) All of these

Which media is useful for illit
consumers ?

(A) Print media

XB) Broadcast media

(C) Posters/Hoardings

AD) Transit means

erate
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A
114. SIS Traq) ST B = i Eie

114. The relationship between rate of inputs

1 U e Gl et
5| :

3 i of productive services and the rate of
(A) 3T g output is known as :
(B) YRR werg AA) Production function
(©) Wﬂﬁ (B) Utility function

. (C) Supply functi
D) Sﬁﬁéﬁéq-gﬁ pply function

115. IS 1 T fyered yoai ¥
2 = 7 i

(D) None of these

115. Ina questionnaire, how many answers
should be there for simple alternative

(A) = questions ?
(B) = (A) Three
(B) Two
@ wq—iﬁ (C) No
(D) 3 (%) (D) Many

116, SO S5 UTSE T A W SETER FAETE

116.  The persons who sign the Memorandum
of Association of a company are called :

(A) Shareholders

A ks (B) Directors

(B) frewren {C) Subscribers to Memorandum of
(C) e Hiwr fam % foru Afyar Association

(D) Jarieh (D) Promoters

117. T <1 e e @ foh
(A)aﬁmamm%nwa%amm

117. Law of Demand states that:
= (A) Thereis always a direct relationship
between price and quantity

AraT EI R | demanded.
(B) shma qem | o AEA Tea fadia »B) There is always an i_nversccei
; relationship between price an
T
: N quantity demanded.
RE 135 7 e T (C) Thereis always adirect relationship
T between desire and demand.
(D) = a9 fyrrg ey el (D) There is no relationship between
e L price and quantity demanded.

TG-14/B
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“Money IS what money does.” Who said

- ,g.ﬂa—s—%sﬁg;mmﬁﬁl"asﬁaﬁ 118, ol
T:)I_;m (A) Walker
@) Sede (B) Robertson
(C) FEX /(C) Crowther
D) it SATSHT (D) Paul Einzig
119. aﬁ@ﬁﬂﬁ‘ﬂ% 119. The purpose of ledger is to
(A) TEA T TR (A) Classify the transactions
B) el sh1 TR (B) Grouping of transactions
C) s Wid | Y J1d HLAT (C) Find balance in each account
D) I w+fl (D) All of the above

120. EM9-F1H @A o ekt 29 oAl ;

120. The unfavourable balance of Profit and

A) =it i Sire i Loss Account should be
B) 5 (A) Added in liabilities
) ; (B) Substracted from asset
C) USfl § ®eHT =fey i
) Toft . (C) Substracted from capita]
(D) 3w ¥ B S T (D) None of the above
121, = dinra swfiar
S ETER R | 121, The law of diminishing marginal utility
ki ili
o was propagated by :
A ¥
(A) Ta. T, e g (A) H.H. Gossen
(B) 3Tche
) A IS gRy 4B) Alfred Marshall
C) 3R
) BING R (C) Gossen and Marshal|
D) 3 '
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On dissolution of a firm, the balance
of provision for Bad Debts Account is
transferred to :

(A) General Reserve Account

(B) Debtors Account

(C) Realisation Account

(D) Partner’s Capital Account

Which one of the following is not an
objective of auditing ?

(A) Detection of errors

(B) Verification of accounts

AC) Punishment for frauds

(D) Preventions of frauds

Which of the following statements is
true ?

(A) When the total utility is maximum,
marginal utility is zero.

(B) When total utility decreases,
marginal utility remains constant.

(C) Total utility and marginal utility are
not inter related.

(D) All of the above

Which among the following is a function
of modern office ?

(A) Receiving Information
(B) Giving Information
(C) Public Relations

(D) All of the above
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